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20049 A&EAE YUY

(2004.4.30)

g | AR s gAd | awe e AeA g N

dE | Za g () (40) (21) (s1) e
| B 1624 52,140,000 54,304,360 192,095,840 192,095,840 - .
77T |BAS FHe [ 600,000 1,346,880 944,130 944,130 |AA A& 2

7759 3 S| 3| Fax 600,000 1,090,940 694,310 694,310 |[FAEY (FHLAA FAETD
7729|359 Sad] [Flee 600,000 1,405,860 88,890 88,800 AA A& &AF o
(8053l | v &b &) |3« 3,000,000 163,600 20,667,770 | 20,667,770 |FAEDP (FELAA FUED |
8257 | th3d oha}a] | 4,000,000 8,584,770 2,044,600 2,044,600 |FA2E29(F7D
82= 9 thstd thsla] [ubsx 4,000,000 9,422,410 2,874,190 2,874,190 |FAED (FHAA)
(82591 [ ishd oiste] o]+« 4,000,000 3,064,890 17,459,130 17,459,130 | ZWZ A3A A F (HEA0 S H)
823 |[AEH Fdg] |Z»» 4,000,000 496,490 25,004,140 25,004,140 |FA2EY (FHAAA FAEID
8238 | EU4H A | FHxx 3,780,000 8,609,530 4,714,330 4,714,330 |FAE%H(Z7DH
8258 = A [ 3,780,000 9,356,300 57,940 57,940 (A AF A3
83=dl A 4,000,000 - 25,399,820 25,399,820 |(BA LA (FEZUAA 1|QF
83=1% 33 4,000,000 —~ 25,399,820 | 25,399,820 |HATAF (FRUA nYF)
83=11 BT 4,000,000 — 25,399,820 | 25,399,820 BETAA(FEULA ©YF)
831 BF7 | 4,000,000 - 25,399,820 | 25,399,820 HFT AR (FRUAA §YF)
83= Wl mlebd el uhsx 4,000,000 7,012,110 4,482,380 4,482,380 FAEW(FHAAA SAJAET}
83EF =W FAlE s 3,780,000 3,750,580 11,464,750 11,464,750 FAEF(FHEA




2010 A&AE U Y
(2010.11.30. 71=)

$4 0 gan Ane S gy SRR R A N« S B S R A B A
e (mrey S X = o 4 o 2e)) AT
BHA| 3 1 2,505 224 85,492,960 | 70,587,410 362,078,150 518,158,520

82=2l| 400 Lxx B« |CHEMH CHSl2| |ohated of2tal 1168-3,-9 : 8%303 . mw_mmo 1,569,230 m.wwﬂmwo A Ho|ae
82=el| 400 L+ | Qlxx (DHS}H CfZH 2| st st 12] 969-2 2,090,310/ 504,260 4,610,120 7,204,690 #@o|st=
82=al| 400 Hax | Mxx (N3} CfSH 2| |chated chst 12] 1170-9 2,359,510/ 681,610| 5,611,650/ 8,652,770 #zo|&s
82=el| 400 Lxx CH=ted chstoa| |chsted chst 92] 1170-8 4,000,000 5,471,090/27,799,830 37,270,920| &0l
82=ell 400 Lxx CH3te CHSIO2| |chstet ofst o2l 1170-8 4,000,000 5,471,090/27,799,830 37,270,920 # &0l
82=el| 400 xx | xx | SHH FE2| |HEtH i3} 12| 960-4 2,577,930| 858,450 6,551,340, 9,987,720 #Ho|&s
8220l 400 AMxx | Axx |CHEMH CHEIR| |chstet istel 1170-10 4,000,000 5,337,770/26,872,140/ 36,209,910 #{Ao|at:
82=¢gl| 400 Alxx CHatH CH3t2| |cHsted ohst 92) 11701 3,592,730 2,434,530/13,813,960|19,841,220| #jAo|&t:
2=l 400 Bfxx | Zxx (i3 CHEl2]  |chste ciste] 1001-120 3,209,730 1,622,180/10,124,160|14,956,070| #Ho|2t2
g2=al| 400 Zlxx | HHax |[CHEIH CHS}2| |chsre cist2l 1168-3,-9 1,013,920 99,580 1,695,310/ 2,808,810  #{#o|&E
g2=al| 400 ne CHEtod CHEt2|  [chatet chatal 1178-5,1168-1 3,833,150 3,319,640(17,766,450(24,919,240| A Ho|&E
83=al| 730 x| E|xx |[Cf3tH CHSt2| |chEbet hsi2l 1170-11 ] A (102 | 6,925,800, 5,728,080 29,187,140(41,841,020 iHZHo|&E
83=ol| 730 ;HI Dxx |[CHEHE CHSH2| |cHsbed chatal 117011 A 1202 | 6,172,640 w_‘%wbao B_wwgwo 29,461,230  ##o|atE
83=ell 400 Bhxx | Bbxx (CHEIH Cf3l2] cisted oislel 1170-11 ) B (202 | 2,711,780 984,610 PMPSO 10,120,850 A Ho|&te
83=2l| 400 - Ofxx | @xxx MEA| EET |thstei thziel 117011 B 201 = 4,000,000 5,671,070 mmq\%“omo.@@_m@@;mo Aol
83=al boo‘ m . Hhxx |CHEHEH n_xmﬂm_ thsted chst2l 1170-11 | B 102 | w.mﬁ‘moom 2,577,900 a.m\mm;mo 19,577,820 A Ho|&te




20109 E<&EAHE VY

(2010.11.30. 7]15)

= | ET M - N_

o T eada Am AR -_ ﬁié »le SECE I B By | T NS

(o (i) gy | #x !
A 3 1 2,505 22 85,492,960 70,587,410 362,078,150 518,158,520
g42el| 600 |AIK OHE| Q00 | s | Olxx | Olxx HEOH 347SE| mwe siawa) 2574 5,957,970 6.710,610 30,413,640 43,082,220, A==
gazal| 750 Bk Fze sz 7 1103 | 4,024,760, 1,000,180 7.,304,410| 12,338,350 Z1E5=x
gaz8l| 750 Zhe Ao shxIR12) L} 102 | 7.240.490 6.511.000|30.368.600 44,120,090 7E5=x|
sazel| 500 2l o shalse) 4,999,070 6,486,060 29,081,040/ 40,566,170 HELEX
gazsl| 378 | MH 610 | Olxx | Olxx | Ol++ |2HH TAl2| |2HH TAI2| 409 3,468,300 2.642,290|12,137,160 18,247,750 #HE22 =X
gs38l| 550 | ME 995 | Blxx | Fux | Mux LEBAIBHE |mTe shizel 148-10 4,738,620| 2,848,600/ 13,106,880|20,694,100 2ES&R
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2011 8x) AUy

(2011.6.22)
=1 A=A AT % 7178 AFA o] = o 5 3}

BtA | 15,700 24 17 24,470 2474 124,503,440 120,738,250 358,042,570 | 603,284,260
g4Zel| 750 | AME | QH | 1,200 | Zxx | Ofxx | Ol«x |CHS}H CH3}2| |Eotw mA2| 279-116) 7+ | 102 | 7,398,550 9,376,620 30,354,690 47,129,860
84=all 750 MY | T 1,200 O] % * O] ** Of*» |EotH ZA 2| |zt 2A 2| 279-116| L} | 102 &w_wwm“mmo 9,376,620 30,354,690 47,129,860
84=2l| 750 AN | 2T 1,200 Hxx | Olxx | O|lxx |CHZIH CHEte| |=oted & A 2| 279-116] L} | 101 7,398,550 W,wwm_mmo 30,354,690 47,129,860
84=12l| 750 AN | 2UF 1,200 R * R * R |E 2t E A 2| |=tod A2 279-116] 7} | 101 7,398,550/ 9,376,620| 30,354,690 47,129,860
84t &t 750 AN | 2F 950 Max | Zbxx Zhxx [T HH HA2| |T=etH 2 A2 343 Lt | 102 6,239,640/ 3,431,390/ 10,950,500 20,621,530

Zal| 750 A 990 Q1 * * Frx Exx (LM EAZ] =M 2 A2 275-9| C | 303 1,676,670 143,510 800,650 2,620,830
all 550 M 900 HMxx | M Mxrx 2180 SIRIEZ| | ZIEH 5t RE| 147-25 | 3,639,910/ 1,369,290, 3,718,070 8,727,270
4H 650 AlX 990 Hoxx Shxx ehxx | HEZ S HEg &82| 495-2| L} | 106 2,585,270 441,960, 1,363,140 4,390,370
& 650 M 990 o M xx M+ |HEF Sl42| (WIS ZHa2| 495-2| L} | 208 4,609,660, 1,815,270/ 4,923,750 11,348,680
ZH 600 Al 990 Ehxox HEx x Hhxx (M2 MESH FotH El A 2| 373-4| 2 | 201 M.L_m,wm.mmo 328,920 924,140 3,441,680
2t 600 MY | otm 990 ESEY o x Mxx M2 ME=F Lot B A 2| 275-16 | 1 207 5,767,360/ 5,071,210 13,827,390 24,665,960
3t 550 MY | AR 990 Lwx | Zxx Uxx |FE0 SRIE2| | XEH S1FIE2] 153-9 | 7} | 305 | 4,326,350/ 7,040,450 20,117,610 31,484,410
= 600 | AH 990 | Zlex | Zsx | Zer Totol BA2 Solw ®A2|379-1 I} 201 1341260  114.800 388,880  1,844.940)
= 600 MY | UF 990 Flxx | Zrx | Zxx LM FAZ| TdH 2 A2l 379-1 | L | 101 5,404,310 w,mwm‘ookmlzJ@\,@mk_ ,340 18,780,650

ou| 650 | AME R 990 | Zex | Shxx | Shex BEE DEa| Y RH2 3757 1 | 101 4,943,640 4502160 12,527,910 22,063,710

M8 650 | AH | 9E 000  Fer | Fex | Fae BHE mEal BHE SH2375-7 1 102 6,032,820 4,568,480 12,574,440 23,175,740

|
|

oo

E 650 @ AN UF 990 | Alxx | Alxx | Alxx 2HH Zge| Ho Age| 375-7 1 103 | 6,500,000 9,310,430 27,772,450, 43,582,880

1 B - ~ 1 - R L




2011 #8x] MGy

(2011.6.22)

== AA . S A(% o] =1 . 51
B R R e B R I B st
15,700 24 17 24,470 244 m 124,503,440 | 120,738,250 | 358,042,570 | 603,284,260

650 A | UF 990 o_w*‘ Of*% | O|xx .me_t AEe| 29dH 2y wwm|w:z+ 201 6,500,000 m‘,‘wéo_nw mw_wwm_‘M‘wo 43,582,880
650 | A% | ¥ : 990 | Mxx | Mxx | Mxx (2HH Ztme| 2™H &gl 375-7| 1 | 203 m‘hmwlmmo m.im,mw\o}.mﬁdw_mmo 39,716,970
650 | M |@F| 990 | Zex | 2er | Zee |2WE TWe| W HW2I375-7| 1 | 301 | 5315640, 9,228,920 27,413,110 41,957,670
650 | MY | AR 990 , Mer | Mex | Mex EHH NE2| | 2PH W] 375-7| 1 | 302 | 5,496,170, 3,146,670| 8,512,270 17,155,110
650 | MY | &R/ : 990 | Alxx | Alxx | Max (ZHEA Qets |82HH &Ha| 375-7| 1 | 303 | 6,337,330 6,027,070 16,984,680 29,349,080
600 | AHY 990 | Hxx | Mxx | Mxx |IHEH Ch3t2]| |CHEbH Otz 1175-1) B | 201 Aﬁmﬂémgo !é ,542,380) 3,246,610 8,920,600
600  AH _ 47 990 Hhox , Hhex | Zxx |CHEMH CHEL2| |CHEHH CHEl2] 1175-1 ] B | 202 5,373,700/ 3,609,560, 8,350,600, 17,333,860




